u Figure it out. Do the sums and use the answers to crack the code.

A P Y M H I | Draw your
23 | 45 | 67 | 39 | 78 | 54 | face.
I. 142 1283 2664 51
+40 +11 +13 427
E 54
15 486. 317 988 23
Y 53 +44,|. 2.13 4.|5.]6./7.8
| - oL

B Think it out. True (V) or false (X)?

I. 12 is the same as 7 plus 6.

| 2. Two 20c is the same as €0-50.

. There are 12 numbers on a clock.

. This is a triangle. A

. Half of 12 is 5.

. I had 50c. I bought two pencils for 20c each. I got 5¢ change.

is longer than

3
/A
5. One ice-cream costs 22c. Two ice-creams cost 24c.
6
7
8

; Puzzle it out. Build the number castles. Add the two numbers
below to find the number above.

3.

5. 7.




